

Partial Fractions

HW p. 720 #2)

$$\frac{x}{x^2+3x-4} = \frac{x}{(x+4)(x-1)} = \frac{A}{x+4} + \frac{B}{x-1}$$

#11) $\frac{2x}{(x-1)(x+1)} = \frac{A}{x-1} + \frac{B}{x+1}$ multiply all by L.C.D.

$$\frac{2x}{(x+1)(x-1)} = \frac{A(x+1)(x-1)}{(x-1)} + \frac{B(x-1)(x-1)}{x+1}$$

$$2x = A(x+1) + B(x-1) = Ax + A + Bx - B$$

$$2x = (A+B)x + A - B \rightarrow \begin{cases} A+B = 2 \\ A-B = 0 \end{cases}$$

$$2A = 2$$

$$A = 1, B = 1$$

So $\frac{2x}{(x-1)(x+1)} = \frac{1}{x-1} + \frac{1}{x+1}$ L.C.D = $x(x+3)$

14) $\frac{x+6}{x(x+3)} = \frac{A}{x} + \frac{B}{x+3}$

$$\frac{(x+6) \cdot x(x+3)}{x(x+3)} = \frac{A(x)(x+3)}{x+3} + \frac{B(x)(x+3)}{x+3}$$

$$x+6 = A(x+3) + B(x)$$

$$x+6 = (A+B)(x) + 3A$$

$$\rightarrow \begin{cases} A+B = 1 \\ 3A = 6 \end{cases}$$

$$A = 2, B = -1$$

$$\frac{x+6}{x(x+3)} = \frac{2}{x} - \frac{1}{x+3}$$

$$16) \frac{x-12}{x^2-4x} = \frac{x-12}{x(x-4)} = \frac{A}{x} + \frac{B}{x-4} \quad \text{L.C.D.} = x(x-4)$$

$$x-12 = A(x-4) + B(x)$$

$$x-12 = Ax-4A+Bx$$

$$x-12 = (A+B)x - 4A \rightarrow \begin{cases} A+B=1 \\ -12=-4A \end{cases}$$

$$A=3, B=-2$$

$$\frac{x-12}{x^2-4x} = \frac{3}{x} - \frac{2}{x-4}$$

$$18) \frac{2x+1}{x^2+x-2} = \frac{2x+1}{(x+2)(x-1)} = \frac{A}{x+2} + \frac{B}{x-1}$$

$$\text{L.C.D.} = (x+2)(x-1)$$

$$2x+1 = A(x-1) + B(x+2) = Ax-A+Bx+2B$$

$$2x+1 = (A+B)x - A+2B$$

$$\rightarrow \begin{cases} A+B=2 \\ -A+2B=1 \end{cases}$$

$$3B=3 \quad B=1, A=1$$

$$\frac{2x+1}{x^2+x-2} = \frac{1}{x+2} + \frac{1}{x-1}$$

$$20) \frac{7x-3}{x^3+x^2-3x} = \frac{7x-3}{x(x+3)(x-1)} = \frac{A}{x} + \frac{B}{x+3} + \frac{C}{x-1} = \boxed{\frac{1}{x} - \frac{2}{x+3} + \frac{1}{x-1}}$$

$$\frac{7x-3}{x(x+3)(x-1)} = \frac{A}{x} + \frac{B}{x+3} + \frac{C}{x-1}$$

$$\begin{aligned} A &= 1 \\ B &= -2 \\ C &= 1 \end{aligned}$$

$$7x-3 = A(x+3)(x-1) + B(x)(x-1) + C(x)(x+3)$$

$$7x-3 = A(x^2+x-3) + B(x^2-x) + C(x^2+3x)$$

$$7x-3 = Ax^2 + 2Ax - 3A + Bx^2 - Bx + Cx^2 + 3Cx$$

$$7x-3 = (A+B+C)x^2 + (2A-B+3C)x - 3A$$

$$\begin{cases} A+B+C=0 & B+C=-1 \\ 2A-B+3C=7 & -B+3C=5 \\ -3A=-3 & 4C=4 \end{cases} \rightarrow A=1 \quad C=1 \quad \text{so } B=-2$$